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Awneuncevwmts

(1) Extin Totorial will he hld on 3 Dee (Mon) 2:30-3.30
m LSB LTS5,

(2) Extra office hour Sor Final: 4 Dec (Tue) [0:30-12:30



Reoll the Avzels -Ascoli Theorem (Sor G = (ab) 2 R)
Thw E€ (C Cobd |- lL) = PreoOumct S E s ‘ooungJ qnc{f Ul continuous
(P ecr-l: Cequ;ctg)
AIDPHca‘[‘,IUVL to Sequemees ' g [ven C]Cn)g Clob], E-— {ﬁ\heﬂv} < Clok]

(as a 529.) (03 o s2t)

Corl IF¢ is bdd omd eqricts Hhea ('Fn) L\As o CDV\vWM‘f} suheq vence.

(. sulosey.)

Au application ot Corollary 1 ¢ Compoct oporottor

Det Let G (1) e Hormed Spoces, @ Jineer mop T+ X= Y
= ompach 1 V B< X:bdd sbut, TRISY is precpt.
Eqoivalertly* ¥ (%0 EX: M 2q, (T €Y hus a cons. by

Cor2 (X)) = (Craubd, 1) wi ovbltrry morm 111, (Y, [ = (CExd1 )11,
If V(5. <lClemd 1) « bdd, {T5.3 S (Clowd [11) Is bdd and equicts

thom T Chubl— Claw) 1s cpt,

PS5 The vesdt Sollows  From Cor 1



A1) (HW10,06) Defe T Clo,41 — Clo,1 Ly
TE= s Fdt
) Shw Fhat T ¢ (C0AL M) =>(C0AL ML) i opt
©) Sk that T (COALI,) —=(CoAL ML) e ot
Sol) (@ Given (£ €(Cr0.12,110,) bdd, 3M>0 st
1. <M, Yrnew
) {THIe (cro 1) is bdd * Yuen, Vxero,n, \Ts)w]
= | L5wdt|< Ko <M, o IThlcm, Vnen.
(i) T} is equicts: Showing {THY sutissies o uaifom Lipschite condrtion
Wiy 60041 (W00 ), Vnen, [ Thin-THin| = | [ futode]|

< llﬁl(mlwl £ M |xyl

JoBy Cor 2, T s cpt.



(k) Given () S(CLoa3,I0,) bdi, Tk >0 o4
[$.00= §\aeldt <K, Vnem
WATHRS e (Cro ) is bdd + Yaen, Yxelon,
eode] <, Mol dy <( 5, bl i INTDPLS

C&W‘Iy gchwwz )Mq)

TR, Waen,

I T5.00| =

(1) {chn} 1S equicts: showivy {74,V sobisfies o wifom Holde, condition *
Vx.y ¢ 00,17 (WLog xsy) ) Vnen, le - TF, [y)) = I Jxﬁ(ﬂcl-e l
< flrelitde < (515 d)* (Sr1arde)* <R wptt

Ml/ §d1wwz Iney.)

L B)’ Cor2., T s c)ft, -



QA2) (HW 10, a%) Fix Kop e C(lb<lbl) Y F€Clas, define

the integral Fumstom [ F1 [0L] —/R by (T +)(x>——§i Kixy) $lY)dy

(0 Show that T cetins o Linsse oporttor Ti Clab) = Clasl.

) Show that T (Cloa, 14) — (Co8) W) is ot

Sol) () Showity  TFE Clakl: YE>0, by witom cty o K.

3850 of YV Xx€ [ab] of e-X|<S. ¥ yelob], [Kiy)-Kix.pl<e
[ TF-Tfo)] = Uﬁ (Kewy)-Kox, ) Tyl < € (1Fl,, (b-a)

Lfneaw‘ty o T Tollows From the Kllluwf‘l}y of  intograbion
L) Given (£ €(Crobd, i) bdd, FM>0 st [Hillo <M, Fnew

D {TRIc (Cwb1 L) is bdd © Yuen, Vxeran, |T)w)

= in Koo £y | < Kl 15l (=23 < WL M (b-2)

(i) {ch“} 'S equicts: Undew somee. wottions s in (), 3550, Vnen,

| TS0 - T € € Ifille (b-2) € €M (b-a)

B}’ Cor2, T s opt. )



A3) (Hwio,Q4) let 2= 4%, f} S Clabl be o Finte set,
Show thot, € Is bdd ond oguicts.
Sol 1) By defuition © (1) £ ts bdd:
Let M:= s AIBIY | thon Y icten, Milo <M
(2 E Is equicts Y€70, sinee Y 1¢ieN, § s oy cts
TS50 st VE Y 6Lab) w/ k-vI<S,, [Fio-fipl<e
let §:= min S, , then ¥y €Tb] w/ beyleg Vi cuen,
| 50 -%ip | <£ —7

Sol 2) By Thm, Soffes to show & & precpt
Y G) S €, she £ is Ste, (%) contoin o shaguonce (9n.)

0 fhe Som  Gno=Ti, F cigsN YV ken
"+ Gne) comverges wisormly to §1, hamee b5 Oimguit in (CRAL L)

-a



